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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt of this question

paper.
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The paper is divided in threce scciions. Questions {rom cach section should be

attempted together,
3. All questions arc compulsory.

4. All questions are of ¢cqual marks, 7.5 marks cach.

5. Answers may be written either in Enghish or in Hindi: but the same medium should
be used throughout the paper.
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SECTION - A
WeE - &

The demand for electricity rises during the peak load evening hours. Would

you suggest a higher peak load price 7 Give reasons.

Give relation between AR curve MR curve and clasticity of demand. Why
should a monopoly {irm not sell below the price where elasticity of demand

is less than one ?

OR

What do you understand by social costs of monopoly. If the gains to producer
from monopolyv power be redistributed to consumers, would the social cost

be eliminated 7 Explain with help of diagram.

Explain equilibrium of a discriminating monopolist selling in two di{ferent

markets with differing elasticity.
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2. {a) Whatdo you mean by excess capacity in monopolistic competition ? Is this

outcome ncecessarily undesirable ?

(b) Supposc that two identical firms producc leather jackets and that they are
the only {firms in the market. Their costs arc given by C(1) = 60Q (1) and
C(2) = 60Q (2) where Q (1) is the output of the first firm and Q (2) is the

output of sccond firm. Price is determined by the following demand curve :
p =300 Q
Where Q - Q(1) + Q(2)

(1} Find Cournot — Nash equilibrivm. calculate the profit of each firm at

this equilibrium.

(1) Suppose two firms form a cartel to maximize joint profits then calculate

the profit and guantity of cach firm.
OR

(a) Compare price, quantity and equilibrium of monopolistic competition to that

of perfect competition. in long run.

(by Let there be two firms which produce output under zero cost of production.
The markcet demand curve is given by P = 40 - Q where Q is total output.

Calculate output of two firms under Stackelbergs Model.
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a) Explain sales maximization and price rigidity as characteristic features of

oligopoly.

What are the factors affecting consumer decision on buying or leasing a
car”

OR
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(a) Draw indilference curves for two individuals A and B where A is extremely
risk averse and 13 is moderately risk averse. Explain reasons that make a

person risk lover or risk averse.

{b) Why did OPEC cartel succeed where as CIPEC failed ? Show with

diagrams.
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4, (a) Prove that labour supply curve of an individual is backward bending with
help of indifference curves. Can we still have positively sloping market supply
curve 7
(b} Derive the demand curve of a firm for a single variable factor under
market conditions of perfect competition in both production and factor
markets.

OR

(a) Differentiate between monopolistic and monopsonistic exploitation
of labour. Can trade unions help in removing these forms of

exploitation ?

PTO.
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(b} Explain the concept of cconomic rent for -
(1} A Tcacher
(i) Lata Mangeshkar
(1)) Domestic Servant
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3. (a) Show how perfectly competitive markets automaltically lead to pareto

optimality in exchange and production.
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(b) Why arc externalities fikely to lead to an incfficient allocation of resources

just as public goods do ?
OR

(a) What do you understand by market failure 7 How market power makes

efficicncy an unattainable goal ?

(b) Diflerentiate between partial equilibrium and general equilibrium. Aiso explain

feedback effect and spillover effects.

(%) welia ifaw fr fea war T A aom == & fafea sk IoweT § Re-
ool & feafa e B

(@) A fr O A @ gew S @ Rk R # R ardertn wwd wd
77
ST2Udl

(&) aTR B FEEA B & Fu TR F ? wrow A afed 5 wER ge 3R st
el T R e @ 7

(@) st sk awa dgeEt 3§ R goee ) A9 R afnfe T siftreree - s
3t AR AT |

(9000)



